
2074.075 sf] cg'dflgt lgz{t cg'bfg                              3,00,00,000.00

     sG^Lh]G;L 3 k|=                                                  8,25,000.00

j*fut jh]^ l;lnu+ 70 k|ltzt                nd;d           1,84,00,000.001,84,00,000.00
gu/:tl/o jh]^ l;lnu+ 30 k|ltzt                              1,06,75,000.0082,75,000.00

j*f:t/Lo ah]^ l;lnª 

k|To]s j*f ?= 11,50,000.00 nfvsf b/n]                    ?=11,50,000.00 dWo]

dlxnf M                                           1,15,000.00

afnaflnsfM                                          1,15,000.00

blnt hghflt ckfu+,lk%*f ju{                      1,73,000.00
k"jf{wf/ tyf k|j{$gfTds                             7,47,000.00
gu/:tl/o jh]^ l;lnu+ 82,75,000.00 dWo]
s nIfLt ju{ 35 k|ltzt 28,97,000.00
v cGo 65 k|ltzt 53,78,000.00

1=Go'gtd ?=5,00,000.00 sf] Pp^f k"jf{wf/ of]hgf  clgjfo{ %gf]^ ug'{kg]{% .
2= cGo of]hgfx? ?=50,000.00 jf ;f] eGbf jl(sf %gf]^ ug'{kg]{% .
3=l;lnu+ adf]lhdsf] jh]^sf] kl/lwdf /lx nIfLt ju{ lzif{sut sfo{qmd v'nfO{ of]hgf %gf]^ u/L k&fpg'kg]{% . 
4=yk of]hgfx? %'^\^} ljj/)f ;lxt gu/kflnsf,lh=lj=;= s]Gb|df dfu ug{ %gf]^ u/L k&fpg'kg]{% .

dGynL gu/kflnsf 

ah]^ l;lnu+ af+*km+f*

 :jf:Yo,lzIffnufotnfO{ k|fyfldstfdf /fvL u/L %gf]^ ug'{kg]{% .

of]hgf %gf]^ lgb]{lzsf 

5=k"jf{wf/ tyf k|j{$gfTdstkm{sf] ?=5 nfvsf] of]hgf %gf]^ ubf{ vfg]kfgL,ljB't lj:tf/,;*s,k'gMlgdf{)f

  jfsL                                                          2,66,75,000.00

cf=j=2074.075 sf] nflu PsLs[t of]hgf th'{df ;ldlt j}&sjf^ :jLs[t  
jh]^ l;lnu+

 ;dk'/s sf]if                                                     25,00,000.00

          jfsL+                                                  2,75,00,000.00 
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